S}Y984 UOA
Jasspmebuly ——

S)ul] UOA yopbg ——

axonig

275.47

274.58

o—

Hohenbezug DHHN92

267.00 m+NHN

A4

91'69¢
8¢'69¢

9G°69¢

£8'69¢

¥1°0LC

¢0'LlLe

Y9°LLC

16°1LC

L0¢Le

60°CLC

61°¢LC

9,.7CLC

eeele

Se'elLe

¥8'¢LC

8lvLe

YrYLT

HQ10 IST— Zustand in m+NHN

6C°69¢
9¢°69¢

v¥°69¢

96°69¢

9¢°0L¢

16°0LC

[ANYAA

e8°LLe

G6°LLC

96°LLC

S¢'eLe

£8°CLC

l0'esLe

lg'ese

€L°¢Le

elvie

8¢ V/C

HQ5 IST— Zustand in m+NHN

11'69¢

0L°69¢

¢5'69¢

86°69¢

96°0L¢

G0'LLC

v¥'LLe

[8°LLC

[A*h2X4

9¢°¢Le

0¢'cLe

9G6°¢Le

Sl'ele

£6'¢/C

28'¢/Le

9¢vLe

JASK 7X4

Rechtes Ufer (RU) in m+NHN

1£°69¢

£9°69¢

¢L°69C

£6°69¢C

6¢°0L¢C

¥6°0LC

9¢°LLT

8L°LLC

09'%/2

¥8°LLC

S¥'cLe

LL72L2

lg'elLe

29°¢le

06°¢Le

1A JX4

YSvLC

Linkes Ufer (LU) in m+NHN

.t
£
]
o
m n
° o
c
_ G| ™ N
- _ -+~
Sl | &5 S
c c N +| = Te)
0 m | <l © © «—
= 0
> )
o5 9 o) _—
bol T ol E
o0 I T X (0] m
=@ o o o o .
ool S| gl = 1B o 2
oz 2| & o c O T
oo B | T m < m O
e B 3| N~
o o @ 2| £
Scl 3l 51 51 2
&5 o o] »n|l ©
O c o 3
o o = o
S3 2| o .
o £ o
=o of 5| 2| E
TI| O = X
Y N =
@ o
S| g 5 2 8
al €| & o
of ¢ Bl 2 & J ~
+— O (o) (7] c e}
X O O 0wl c| + [}
L 51 5 9 9| @ o o
ol | % = n| K c <
°f 3| 3| | @l B & ©
ol <] < Ol <« = O =T
9¢'89¢ 0749469
c¥'89¢ |0°9LL69
29'89¢ |0°01869
G8'89¢ |0°90669
<
. . o
GE'69¢ |0°C000L =
G6°69C |0°L600L
19°0LC [0'v610L
00°LLC |0°¢€¥COL
60°LLZ |0'89C0L
SlL'lLZ |0'¥8C0L
€
o
8v'lLC |0°¢8¢0L W
©
(o]
N
o
o
c
0
|
n
o
98°lLC |0°S0S0L ~
8Y'CLC |0°LL90L
89°CLC |0°CCLOL
G6°CLC |0°6180L
ev'eLC |0¥E60L
Q
~
¢8¢LL 0¢e0LL
Z
Z
T £ £
= £ £
c
= c c
o 0 0
= S o
[e] +— +—
(72} n (7]




